Practice Exam 1 









Part 1.
After a statistics class, Dr. Johnson asked all 51 of her students the degree to which they felt statistics were going to be useful in their eventual career.   She had all of her students respond to the following question, “Statistics will be very useful in my future profession,” by using the following scale:  1 = not at all useful and 7 = very useful. She found that the average response was a 4.9.  

1. Given that the mean 4.9 was based on all of her students, the 4.9 would be called __________ . 
a. a statistic
b. a parameter
c. sampling error
2. The purpose of Dr. Johnson’s survey is best described as ______________.  
a. sampling error

b. descriptive

c. inferential

A cognitive psychologist studying reading comprehension wanted to know what would happen if all college students were taught better reading strategies.  She obtained a sample of 40 college students from the introductory psychology class and taught 20 of them effective reading strategies.  The other 20 students were given a placebo treatment.  She then gave all 40 students a standardized reading comprehension test.  The mean score on the reading test for those taught the reading strategies was 49, with a standard deviation of 4.  The mean score for those receiving the placebo treatment was 44, with a standard deviation of 3.8. 

3. The purpose of this study is best described as:

a. descriptive

b. inferential

4. The samples of college students was intended to represent all college students, therefore the values of 49 and 44 would be called ______________ .    

a. statistics
b. parameters
5. Identify the IV in this study.

6. Identify the DV in this study.

Identify the scale of measurement used to measure each of the following variables.  Choose from Nominal (N), Ordinal (O), or Interval/Ratio(I/R). 
7. You ask students their Party of Affiliation (e.g., Democrat, Republican, Independent, etc.).  
8. You the person who teaches your English class their academic rank (e.g., Instructor, Assistant Professor, Associate Professor, Full Professor). 
9. A scout for a professional team records the time in seconds it takes a baseball player to run to first base.   
10. An insurance application asks the number of automobile accidents you have been in in the last 5 years.  
11. You record the credit hours each student in the class is taking this semester.
12. A survey asks what type of car you drive (e.g., Dodge, Chevy, Honda, etc.).
13. A website lists the order of finish in a marathon.  
14. A survey asks people to indicate their opinion of the on-line course they just completed, (e.g., 1 = I really liked it; to 7 = I hated it). 

 Determine if each of the variables below is continuous (C) or discrete (D). 
15. How many pounds someone gained over the holidays. 
16. How many people are on an airplane.
17. How much money people made last year.
Construct a frequency table for the following data.  The data came from the question, “What is your age?”
	Age

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	17
	5
	2.5
	2.5
	2.5

	
	18
	94
	47.7
	47.7
	50.3

	
	19
	50
	25.4
	25.4
	75.6

	
	20
	22
	11.2
	11.2
	86.8

	
	21
	14
	7.1
	7.1
	93.9

	
	22
	5
	2.5
	2.5
	96.4

	
	23
	3
	1.5
	1.5
	98.0

	
	24
	1
	.5
	.5
	98.5

	
	31
	1
	.5
	.5
	99.0

	
	37
	1
	.5
	.5
	99.5

	
	45
	1
	.5
	.5
	100.0

	
	Total
	197
	100.0
	100.0
	


18. What score (i.e., age) is the median of this distribution?

19. What score (i.e., age) is the mode of this distribution?  

20. How many people gave the mode as their age?   
21. What percentage of people had an age older than the mode?   ______________

Central Tendency
22. A set of data (i.e., a distribution of data) has 7 scores.  The mean (M) of these seven scores is 20.  Six of the 7 scores are on the answer sheet.  Use deviation scores (X – M) to determine what the 7th score has to be.  Show your work.

Scores (x’s)

19


18


22


15


22


20
The 7th score has to be:  ___________ .

23. Use deviation scores to create a distribution of 7 scores (N = 7) that is asymmetrical and has exactly 2 scores above the mean of the scores.  The mean of the 7 scores must be 10.   Show your work.

In each of the following situations identify which measure of central tendency you should use.

24. The following is a histogram of a continuous variable labeled “IN”. 
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25. A reviewer determine whether or not job applicants had the necessary skills for a job. 
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25. The following is a histogram of a continuous variable labeled “CWS”.
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26. The variable below is people’s response to, “ What is your religion?”
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27. Which of the following symbols identifies the sample variance?

a. SD
b. SD2
c. σ

d. σ 2
28. Which of the following symbols identifies the population standard deviation?

a. SD
b. SD2
c. σ

d. σ 2
29. In words, the SS is:

a. the sum of scores

b. the sum of squared deviations

c. the sum of squared scores

d. the sum of the standard scores

30. True or False. A standard deviation can never be negative.

31. True or False. Variance can never be negative.

32. True or False. A mean can never be negative.

33. Which of the following sources of variability do researchers try to maximize?

a. Treatment differences variability

b. Individual differences variability

c. Measurement error variability

34. Which of the following sources of variability do researchers try to minimize?

a. Treatment differences variability

b. Measurement error variability

35. Which of the following data sets will have more variability created by measurement error?

a. Students are asked to report how many hours they spent each week doing homework.

b. Number of hours students worked each week during a semester (obtained via time cards). 

36. Which of the following data sets will have more variability created by individual differences?

a. Weight of 98 infants.

b. Weight of 98 adults. 
37. Explain what the standard deviation is in your own words. 
38. Explain why the standard deviation cannot be negative. 

39. The average weight of 3 year old boys is 31.5 pounds with a standard deviation of 2.1. Henry is a 3 year old that weighs 3 pounds. What is the z-score for Henry’s weight? 
40. What percent of 3 year old boys is Henry heavier than? 

41. Garrison is a three year old boy who weighs 34 pounds. What is the z-score for Garrison’s weight?
42. What percent of 3 year old boys is Garrison heavier than? 

43. A college admissions officer needs to determine which of two students should receive a scholarship. In part, the scholarship is based on standardized test score from tests of fluency in a foreign language. In this case, one student took the SFT (Spanish Fluency Test) and the other took the GFT (German Fluency Test). Use the information below to determine who did better on the standardized test. 

	
	Mean on Test
	Standard Deviation

on Test
	Student’s Test Score

	Student A  (took the SFT)
	50
	10
	62

	Student B (took the GFT)
	115
	20
	120


A sleep researcher is interested in the number of hours of sleep her patients got the previous night. Below is data from 15 of her patients rounded to the nearest hour. 

1, 5, 3, 4, 5, 3, 6, 5, 4, 3, 4, 5, 3, 5, 4

44. What is the SS for this population of scores?

45. What is the variance for this population of scores?

46. What is the standard deviation for this sample of scores?

47. Explain when you should use a bar graph, histogram and line graph, respectively.
48. Generate an appropriate graph for the above data.
